Question Paper Title : FG_18

Date of Exam : 19-06-2019 02:30 PM

Reference 1D:(27046)

Answer:

Reference 1D:(29351)

Answer:

Reference 1D:(26507)

Find the word closest in meaning to the word: Mediate

A.Cut in the middle
B.Arbitrate
C.Obliterate

D.Perform penance

B.Arbitrate

Pick the right meaning of the highlighted word in the sentence:
Don't jeer at the students who came last in the race - it's very unkind

A.To applause someone
B.To cheer someone
C.To ridicule or sneer at someone

D.To be disappointed with someone or something

C.To ridicule or sneer at someone

Afgdta Sares
B.UIYH® IdGH
c.fedta Suyie



D. IS SUHIE

Answer: B.UTYH® Jdlqh

Reference 1D:(25167) TR ® Ueg 3. ST STgToiTal iithell adT fdeedTanl

A FThar

B. 9ISl
C.olYl

D.7Ic

Answer: B.G[ST

Reference 1D:(20473) X o Gf&r foRIem di's 3M1g. a1 90 3 Ioldidhe dodl. HT dl 45 3 Ioldids dadl.
Tl 180 3{X g5, {1 o) 90 3 IdIhe doadl. Ridct dl SAlhS 45 T g5l
3T dl HIUTAT R dig B JHT 3T8?

A SR UiEH
B.cf&ur
Cafamr gd
D.qd

Answer: B.Gf&or

Reference 1D:(31945) JaTaUe! HIuTc HIOgR! JSTeT SMg?

A DITH
B.SWId
C.uga|



Answer: B.W
Reference 1D:(19995) "TRWS" T XeTal JATTS Weg 3z,
Aol
B.d=gIc
C.dsIg]
D.®IGS
Answer: B.d=gIc
Reference 1D:(28643) Pick the right idiom which fits into the sentence: He is so lazy that to tell him about

your adventures is like

A.Putting the cart before the horse
B.Smelling a rat
C.Casting pearls before a swine

D.Catching a tartar

Answer: C.Casting pearls before a swine

Reference 1D:(18217) UIdia Ueh Ug dfiafadr golr di |
el o <ufa, YU o ured ||
R AT AP HIUAT?




A ZET

B. YT
C.yifdam=
BRSHICIIES]

Answer: D IgHaIfad

Reference 1D:(21462) SR ZUCHINNI T ¥sd BWEJKPPK 3, TR TAMARIND 8T Xleg 3.

AVCODTKPG
B.VCOCTKPF
C.VCOCUKPF

D.VDODTKPF

Answer: B.VCOCTKPF

Reference 1D:(23443) ‘FHUIT 1 Wegran FHAT Ueg iz,

A BT
B.HIMR

AT
D.feam™

Answer: B.hddR



Reference 1D:(19968) geId faUmTan St =01 9 a1 Ug1g i
YUY AR T W9ed Ui ITal. dagT e Qe Sifise ired T
T ool ! AT d YYARE deid Thddbid forderT i siled. W R d ThADHI
Uhard Hed gid. Turdard T ...

A3 BTG a1 T ATTIHTS,

B.aTe T THId §1d Ol

C.§19 9] deT

D .14 YrSaTaR=AT MHETRMT

Answer: A.3MT3dT B3, dl Ul AIa9HTS

Reference D:(20246) Ueh |V ATAT IRIIRIA 3R &= 10.5 o 4t @rera.

T dl SIAiebs goad! 31101 5 o 1. arerdl.

T dl Soldidbe gaddl SHTMoT 1 T 1. areal.

W @ Ioidihs dadd! 3T 7 fob. A, arerdl.

T dl Iodihs gaddl 3T 4 o5, 1. arerdl.

T dl Iolaihs gaddl 3T 3 fos. =Y. arerdl.

T dl S1dids doadl 30T 4 T A, ATerdl.

T ) Sidhs gl T 1 fob. 1. araar.

ol AT TRTARYA fobed g 31182

A.2.5 fob H.
B.3.5 fob .
C.1.5 fob A,
D.3 fo 4.

Answer: B.3.5 o =t

Reference 1D:(27400) Identify the figure of speech in the following sentence: Oh rains, how drenched you
got us.

A.Oxymoron



B.Hyperbole
C.Apostrophe

D.Euphemism

Answer: C.Apostrophe

Reference 1D:(26510) AERIPTAS [CUYR aaoiid SIHIRUY Wi iade! PIur fTeglTd 3iTg ?

A.SIBITd

B.dddHIb
C. TSR

D Riegt

Answer: B.gddHled

Reference 1D:(31102) Fill in the blanks with the right set of words:
The policeman the thief. He had to be a lot before he was caught

A.Was catching, pursuing
B.Catch, pursue
C.Caught, pursued

D.Catched, pursued

Answer: C.Caught, pursued

Reference 1D:(31950) YRAT JTUYT S BIUAITS! T B WTelicaud! HIo dal?

A TSTRTH HigT 3™



B.HERId §IBH
C.|§Ialﬁi| He RIS
D T8I Bl

Answer: A ISTRTH 9189 I

Reference ID:(17863) 44 =7 1/8 + 50 =T 60% =T 200% + 0.30 x 180 =

A.121
B.121.5
C.118.75

D.119.5

Answer: D.119.5

Reference 1D:(29632) Pick the Synonym for the word:
deception

A.Fraud
B.Honesty
C.Goodness

D.Joyful

Answer: A.Fraud

Reference ID:(31943) HTCHTET ASTUTUT B0 T2

AT



B. 3l

c.BRur

D.YR

Answer: A.'ﬁﬁ

Reference 1D:(31949) Gd g ol HeRToH! WTeiaud! Hioar 3y fofgar?

AT

B.3MdIHa
C.aNaY

D . TR HITad

Answer: A.‘JIIII‘“EH

Reference 1D:(18498) el STHTRITA ISdl." T ITFTed YIRT HIoTT?

A GHHB Bl TN

B.FdI HHUft T

C.3fBHHD Bl AT

D. X HHUR TTNT

Answer: C.3{HHPB Bl TN



Reference ID:(31948) TG B GURGHE THUT ST 3fTed.

A.545
B.565
C.530

D.555

Answer: A.545

Reference 1D:(24940) Jeid AecaggIal Iy Teg fAasT.
U feyur Uy HROMRT

A TSl
B.gHIdie
C.3MNiddh
D.STgTd

Answer: B.gHTEhe

Reference 1D:(21489) WRA=1,B=2,..M=13; 3TN =13,0=12, .... Z= 1, TR W UPH! B
Tgig sRISR 3R ?
A{M+A+C+E}>{M+A+D+E)
BIM+A+C+E}={M+A+D+E)
CM+A+C+E}<{M+A+D +E}

D{M+A+C+E}={N+I+C+E}

Answer: CMM+A+C+E}<{M+A+D+E}



Reference 1D:(33406) HRATd Wl SATOT garef das ot (Institute of Minerals and Materials Technology)
®IS YT ai1g?

AYTTR

B.dhCh

C.9TaR

D.4&s

Answer: A.HTﬁ%R

Reference 1D:(16547) SR @ 38 "HFTIHR' 30T § 318 TOMHR, R WIeid Ygiaide! g1 i Jaid
TG DI 3MTR?

A.39@5
B.4.25$2.5

C.31@4

D.2.75%2.5

Answer: C31@4

Reference 1D:(20981) Hrfeidbadrd RbTH MR OPR__YDJ

A.Q
B.T
C.S

D.U



Answer:

Reference 1D:(31129)

Answer:

Reference 1D:(33405)

D.U

I
i:‘_‘.
ot

I A

et
=

FERTSCIAE I aToT gifacren fiegr TTeiierdd FIoTar H1E?

A.SIBITd

B.gdemn

C.ARTR

DASINEI

B.gdemn

YRAT AR Hedroidhd daresid JEIed Hie 3g?

A.STRIGTR




C.Ydlq

D. BSRIaRT

Answer: A SHRIGYR

Reference 1D:(33198) RSN %@T SRIG SR 3T 0T a1 Al faumer g gvon Bkl
gl gidl.

A §Te5 TR fecseh
B.JATel SoTud 1
c.fadi= 9 ura

D. U7 HWT Taet

Answer: A9 TR e

Reference D:(24432) WTedUe! TR T8 Yea araTdT uaig fAast.

A IO Trdol-ie HTAHH 38,

B. I ¥HRY fAfdeon UR gsa.

C. i U H1d HRAu dlea.

D.7[Siel gl gHTSIfdures 3.

Answer: B.dl uRY fAfdguo uR v,



Reference 1D:(30875) Identify the figure of speech in the following sentence: Time marches at its own
drum.

A.Oxymoron

B.Personification

C.Simile
D.Apostrophe
Answer: B.Personification
Reference 1D:(28135) Find the meaning of the highlighted word in the sentence: The law compels

employers to provide health insurance.

A.Hinder
B.Dissuades
C.Halts

D.Urges

Answer: D.Urges

Reference 1D:(19206) Qe YsaTal AN / JHN ThR 3.

Answer: A FTH TgeY



Reference ID:(35172) TTel faoiedr Uamie! 3 Ux UM 1R ST 1 fF 3M1R. SYorar g iy & sfieswar?

A.B-271, SECTOR - 2, Rourkela
Rourkela — 769006

Odisha

PH 0850850404

B.B-271, SECTOR - 2, Rourkala
Rourkela — 769006

Odisha

PH 0850850404

C.B-271, SECTOR - 2, Rourkela
Rourkela — 769006

Odisha

PH 0850850404

D.B-271, SECTOR - 2, Rourkela
Rourkela — 769006

Odisha

PH 0850850404

Answer: B.B-271, SECTOR - 2, Rourkala
Rourkela — 769006
Odisha

PH 0850850404

Reference 1D:(33404) geiete! HIvr WfdwIRaH U fafdsRume eamare! Hied uiaiitie fSida?

ATl @ IEA

B.3{egy TaH
C.BXNIdE GRHAT
D gFHUGH dERRaR

Answer: AEF[.%)[.QTF[

o

Reference 1D:(19487) TYTd feciedT IR I aTOR 3Rcd a9 GaiaiAy e, aide! 3Saul




AW HTeh S UlfgedTl! oM TTaTd dlde! Seddl.
B XS] USeTaR A § ATl diael Igdal,

C.Rieure a9 9iiedn ot SHd gl T fo=am Ui =il raTd dids! Ssadl.

D. 3P AT deBH RITaR dldal ISaat.

Answer: A HTdhe Ulfgedrd! ISR T1d1d dids! 38ddl.

Reference 1D:(17355) 9.25+2.25+3.5-(9.25-550-4.75)=
A15
B.16.0

C.17

D.16.25

Answer: B.16.0

Reference 1D:(18244) TTetaU! qHdfdes! gaTdid arad s,

A Fb! R GodRI I YN, ¢t Ay feril e agur=n

B.3ME! ddodr! | HTall a1y SR | Siferal o B | I/ Hid adfaar ||
.t fagR SR W < quie, | i, - ¢ srefHwr ¢ yema gret wE ||
D EY 1Ta, o G IR 1 | e 9 ureT ; faerm ot 92 ||

Answer: c.anft fagR SR @ & qaidt, | afh, - ¢ sl - yeire gret wRh ||



Reference 1D:(20954) ATfeTbard RBTHI ST +RT: B, , D, F, G, H, J, K

AE
B.C
C.l

D.L

Answer: B.C

Reference 1D:(26502) HRATITE SHTel e dTe UHHTE BR JTAieid! HIuld 31g?

A.UR dleddc
B.<dd BIc I

C & YU
D. AR} uda=im

Answer: B.wdd DI 0T

Reference 1D:(27627) Pick the correct meaning of the highlighted idiom or phrase from the following:
| let the cat out of the bag when | reveled her
secret birthday party details

A.To accidently revel a secret
B.To be smart and understand all details
C.To gossip about someone or something

D.To have animals perform at a party

Answer: A.To accidently revel a secret



Reference 1D:(26501) Tt Il STad URERI=T avliel ged 3MTg?

ATIIS ruft
B.Hges Tl
C. g9 it
D. D! 9

Answer: D.aﬂaﬁﬁ Qch

Reference ID:(24151) Wit faeearf el et sie! e,

Aﬁf@'xm

B.E0T x fFfur
C.JTH x 3t
D.B’RxGﬂH

Answer: ARE x T

Reference ID:(25194) "It T NeaTaT Wieierder! arg Tt faug siiesr.
ATR + S&
B.ORY + &
C.UR + &

D.UN + P&

Answer: ATR + -sc&”



Reference 1D:(28616)

Answer:

Reference 1D:(29886)

Answer:

Reference 1D:(34945)

Pick the right idiom which fits into the sentence: He

A.Died by inches
B.Burnt the candles at both ends
C.Held water

D.Saw red

B.Burnt the candles at both ends

Pick the right antonym for the word:

vicious

A.Pious
B.Fearsome
C.Acute

D.Intensive

A.Pious

SR 15 (224) 16;
23 (462) 21;

R 31(?)17.
"2" T Heg QT
A.630

B.510

C.430

D.480

before his exams.



Answer: B.510

Reference 1D:(20219) X o Uf3H fARIeT dis 3. dl 45 3R Sldlchs deddl. W dl 75 3R Ioldidhs dosdl. H
a¥ 180 32 g&dl. T dl 15 3 Ioldibs doddl. Aac! dl SHAIbS 45 3 Josdl. AT
I HIurT fERET die B IHT 3MTg?

A&

B.3t}

Answer: D.Uﬁ

Reference 1D:(31947) YR AU BT aflllcbxi-l odt Gfqe ddd 3iTs.

ADST

B.grIcS fdhired
C.3iReferan

D.gAACE Wy 3t AR

Answer: D.gAACE Wy 3t AR

Reference 1D:(26505) TTHAUD! BV ad T3 8 SR Sfdgrdid Jaid Hisdl T4 dd TSdiud! Uk
AT STd?

A SHIET dd Tt

B.Sd Wid dd Tead]



C.7Te% 3% Afed! ad TTesat

D. SR ¥ e TTesdl]

Answer: C.7Te% 3% BfFTP! dd TSt

Reference 1D:(28108) Find the word closet in meaning to: Banish

A.Expel
B.Accept
C.Admit

D.Hold

Answer: A.Expel

Reference 1D:(29605) Pick the right meaning of the highlighted word in the sentence:
Hardship and penury wore him off before time

A.State of being very poor
B.To be well off
C.To lead a very luxurious life

D.To have excessive pride about something

Answer: A.State of being very poor

Reference 1D:(18979) WA el THN / THN UHR sl



A FHYRT

B3NN &g

C.dgey
D. 3/cqdtHIG

Answer: B.SANR &g

Reference 1D:(24913) Jalid YeaqHgrTd! dIv Weg (ATl
YT deddl YRR SGef fodl aig g0l GUIRT

A XRYSY
B.gTgY
C.=YY
D .oy

Answer: B.gMY>Y

Reference 1D:(22579) Wit Fafd dg Tafg HIvrEr 318 2

AbS5+22-75+42-12-23 +45+27
B.228 + 27 - 25 + 32 - 221 + 204 - 44 - 37
C.79+42+215+42+31-203 +45 + 27

D.38-207-25-32-21+204 +244 -7

Answer: AB55+22-75+42-12-23+45+27

Reference 1D:(19233) “SleTeR Yl TS0 I AFERTT WIeTedeh! HIvT 3 TRy 1R ?



A STeATd BRI e Idh qul
B.ARTFHATT ST0!

C.9WIC TTd dg ATeIul

D. SR des iy 10!

Answer: C.amlcTﬁﬂgﬂWﬁ[

Reference 1D:(19460) Grefierten! arasraR 3Nfor T Srufht sy S} e,

ABTd dis USUl - Hed HRUTTY &Hdl HHI TS0l

B.feRgyd B0l - ARTS g0
C.UiTT el - U B!
D.fagH St - Aol
Answer: C.URT B0l - 3T HUl
Reference 1D:(29378) Pick the right meaning of the highlighted word in the sentence:

The government is battling to eradicate illnesses such as malaria and polio.

A.Eliminate something
B.Disapprove of something
C.Being wasteful about something

D.Spread something everywhere

Answer: A.Eliminate something

Reference ID:(32151) HERIFTAIS AT 7t g1 vt ATt Iudl 311g?



Agyf

B.WI
C.dmt

BRIER]

Answer: B.pWIT

Reference 1D:(22833) SR $ 31Tg '+ 3N @ 3R '—, TR WU Fafd daM Tafd HIurdT Mg ?

A25$22@ 15$42$ 12 @ 203 $ 45 $ 27
B28$27 @25$32@ 21$ 204 @ 44 @ 37
C29$22@215$42$31$203$45$ 27

D.38$207 @25 @32 @ 21$ 204 @ 44 @ 37

Answer: A25%$22@15$42%512 @ 203$45% 27
Reference 1D:(26506) 3 I YI® Uil TEUId.
A.CST Uraad!
B.3flf¢d UTaed!
C. 19U Uldes!
D.URI & Urdadt
Answer: C.TIYU UTdest
Reference ID:(21235) SR ARTICHOKE 8T ¥/s& TRAHCIOKE 3{d, d¥ FUZZBALLS BT (s 3.

A.LLSBAFUZZ



B.ZUFABZLLS
C.ZZFUBASLL

D.LLBASFUZZ

Answer: B.ZUFABZLLS

Reference 1D:(33200) HERIFTAIS DIUTT fbeedTaR BaUd! RIdTofl HERTSIT S+ STell §1dT?

ARG
B.ITS
C. I

D.dIgTS

Answer: AR

Reference 1D:(18725) faspia 3naTg FRd TS d. g1 ITHIT Wl BT HTes ATURET 3MTe?

AT HidwrehTes
B.quf yiqwrdres
C Rt widwrepres
D.3(quf HiawHTS

Answer: c.Rdt widwsre

Reference ID:(31944) IR IR e {4 9.

AR
B. AT



C.HITHR
D . ATt

Answer: C.HER

Reference ID:(19714) JaId U1 Ul HRUGMIST Ay uaig Fael. W fhRd &1 @R fohaa.

INGIR |
B.A gl
C.aRgl
D.{Tgl

Answer: A.?ﬂ@ﬁ

Reference 1D:(28389) Find the meaning of the highlighted word in the sentence: He walked with a slow
stiff gait.

A.bearing
B.attitude
C.stride

D.behavior

Answer: C.stride

Reference 1D:(24178) GTeiteTdeh! BT TP G Xea-aa- Sl Xed s,

A arTfasrg
B.favdiorg



c.fefiasm
D.fewfasa

Answer: c.fefaeg

Reference 1D:(21208) ATfcrhdtd RepHI ST HRT: 5, , 7,9, 9,6, 11, 3, 13

A.6
B.12
C.11

D.5

Answer: B.12

Reference 1D:(18952) gelerde! 3qul HiTsIdTes Srea It IuTd?

AH 3T @Td 3.
B.H Uarg &iid 3rda.

C. < FITHET STd 3.
D. Ut 9d.

Answer: D.aﬁaﬁaﬁ T4,

Reference ID:(26503) HRATAIA 20 SIaHNNferes &3] WUt HIudl/d SIaHINeS & 3MR?
A) T feaTad &=
B) MO I &=
c) frRugt &=

A.A 30T B



B.B 31T C

C.A 3T C
DG A, B3MUIC
Answer: D.9d A ,B3Mforc
Reference 1D:(30367) Find the meaning of the highlighted word in the sentence: The police said they had

no reason to suspect foul play.

A.Definitive
B.Positive
C.Doubt

D.Decisive

Answer: C.Doubt
Reference 1D:(33199) "IIRA & qIB EEIEEINE (Armed Forces Medical College)" II'E:RTgl'cﬂT'I DI
G 311872
AATTR
B.gUl
c.qss

D.3RTETe



Answer: BHE?[

Reference 1D:(28870) Convert the simple sentence to a complex sentence: The cause of her death is
not known

A.No one knows why she died
B.The reason how she died is unknown
C.Unknown is her cause of death

D.Her death reason is unknown

Answer: B.The reason how she died is unknown

Reference ID:(25421) ST T Yea =N WTeliete! g Weft faue sheswr.
A ST + Siidd
B.SIT + Siidd
C. STl + o

D. ST + Sita

Answer: Do + Sita



Reference 1D:(16520)

Answer:

Reference 1D:(24686)

Answer:

Reference 1D:(34918)

Answer:

FEISUIP,Q,R, S, X 301 Z 3 &F MU ThHdbids dis Ho- ¥ 3HTod. Gial
T ! T ST0T 3fTed. X 9T [ASIRT Sqaal P g1 S T HUNTNE 3. S 81 Z &
Sldlchs U=l hHIbIaR 3MT8. X 8 HIUATe! AT Adc! Sqadl Alel. R 8 Z =
QISIRI 3Tg. X 31101 S dt S Sfgddad bedaR HedT f3bTult S 91 USRI Hivf

3 dte?

A.P 30T Q
B.Z 301 Q
C.P 3nfor R
D.aIAUD! BTEIe! A6l

A.P 30T Q

YT aTeTd RebTH ST WA gdid a1 Xse (Adel.
o TedTar JHAM HRUTSdT ............ TS S UIeaudrd 31Tdl.

A Y&l
B.YUuIq
C.UdId

D.UdRTl

C.UdId

SR 16 x 3 =2304, 7 x 9 =3969, MU 5x3 =225 TW2x2="?

A.16
B.32
C.28

D.24

A.16



Reference 1D:(28362) Find the meaning of the highlighted word in the sentence: Travel can be an escape
from the routine drudgery of life.

A.Entertainment
B.Fun
C.Slavery

D.Party

Answer: C.Slavery

Reference ID:(17101) 12/20 + 5.5 -5/40 = ?

A5.6

B.6.225

C.5.975

D.7.9

Answer: C.5.975

Reference 1D:(20500) VR NK =3, HK =-3, d¥ MJ =

A3
B.-3

C4



D.0

Answer: A3

Reference ID:(17890) X B1Y & 350% 1 HIaT 3Tg. T Y 8T X § % TEM 3TG.

A.66.66
B.250
C.23.33

D.77.77

Answer: D.77.77

Reference ID:(16874) 15/25+0.5-5/40 =7
A.0.975
B.0.625
C.0.875

D.1.55

Answer: A.0.975

Reference 1D:(24659) gTdd aTaaTd RepTHl ST YUy gafd a1 eg fAasT.
e fasramm fedgt .. B!, T STdd I Hdd 3.

AHId



C®ia

D.3{ld

Answer: D.3Id

Reference 1D:(26509) AT, gIUCUT UTouft 3for geft EIRHRUEIRSE

A. 398Gy yroft
B.gS4RI Uruit
C.Fx yroft

D. g

Answer: A.&rqgﬁil’ﬂﬁ groft

Reference 1D:(33403) URATGR IHTGRITAT HTeUgH faatd "di drar EIR G

A TfEH ST

Answer: AT ST

Reference 1D:(30648) Convert the following active to passive voice: The traffic might have delayed Jimmy

A.Jimmy is being delayed by the traffic

B.Jimmy might have been delayed by the traffic



Answer:

Reference 1D:(30140)

Answer:

Reference ID:(17128)

Answer:

Reference 1D:(27881)

C.The traffic is delaying Jimmy

D.Jimmy is to have been delayed by the traffic

B.Jimmy might have been delayed by the traffic

Find the word opposite in meaning to the word: Latter

A.Last
B.Prior
C.Tea

D.Lag

B.Prior

TTeiid gataites! g1 shHihTdT qatd HIGT HIT 3MTg?

A.350 T 40%
B.1300 dT 1/4
C.0.35 x 900

D.800 dT 2/5

D.800 dT 2/5

Pick the correct meaning of the highlighted idiom or phrase from the following:
We had to pay through the nose for her master’s degree.

A.A lot of money, more than a fair sum

B.In a quick matter of time



Answer:

Reference 1D:(23670)

Answer:

Reference ID:(17382)

Answer:

C.Pay without any difficulty

D.Pay with great expectations

A.A lot of money, more than a fair sum

Trefidue! T TeaT= SRIsR Siet 3iewEn

A.Z8dIP - Rdld
B.fadhe - gay
C.®Uc - 34
D=1y - Hg

C.®Yc - sld

13.25 + 12.55 + 4.75 - (5.25 - 8.75 + 2.25) = ___

A.31.55

B.32.15

C.31.8

D.31.65

C.31.8



Reference 1D:(29124) Pick the right meaning of the highlighted word in the sentence:
Although their small island was untouched the trees and jungle beyond were
decimated

A.When something subsides
B.Creation of something
C.To be destroyed by something

D.Something which is created by being patched up

Answer: C.To be destroyed by something

Reference D:(22805) SR § 318 '+ 3T @ 3R ', TR Wielictiept Fatd AIGT Uafg HIurar 318 2

A152$65$32@ 74 @ 105$93 @ 42 @ 37
B48@ 17 @52 @35%$156$ 104 @ 34 @ 74
C19$15$42 @45 @ 36 $ 103 @ 42 @ 507

D.144$67$52@35%$56 @ 104 $ 44 $ 13

Answer: D.1443%$673$52 @35%56 @ 104 $44$13

Reference ID:(18471) WU 10T T Sgad aTed TR ?

AT 3HH T qreel TR ATl Uha! T (eI Golral are ATal.
B. 3175l U<l SRT SIRad 31Tg.
C. e Sl e,

D I Wddl Waddl Ugdl.

Answer: AT 3 TY dTae IR AT Uhg! Uy 3edd qoitdl aredl -Tal.



Reference ID:(26508) M@gmmmwwﬁmwwwm
RS 3e?

AR 1S

B.3(a TS

ETNCIEEIS

DACEICEIS

Answer: AT dis

Reference 1D:(20727) WRUS=310,RED=954, AWAY=1517, RCLOSE=_7
A.12136105
B.33815
C.336105
D.3361014

Answer: C.336105

Reference 1D:(28897) Fill in the blanks with simple past or past perfect tense of the
verbs: When the airplane , the pilot __ that a shell ___ one of the wings.
A.Had landed.......... found.......... had damaged
B.Landed.......... had found.......... damaged
C.Has landed.......... finds.......... has damaged

D.Had landed.......... finds.......... has damaged



Answer: A.Had landed.......... found.......... had damaged

Reference 1D:(30394) Pick the correct meaning of the highlighted idiom: His grandfather passed away in
the early hours of the morning.
A.To die
B.To go on a holiday
C.To recover from bad health

D.To settle one’s difference

Answer: A.To die

Reference 1D:(22551) Welidue! gafd HIaT Tafy HIordr 318 2

A25-22-35+72+202-83+45+ 27
B.48-27-25+32-221+204 +44 +72
C.29+22-25+42+31-203 +45+ 207

D44 +17-25-32-21+204-44-23

Answer: A25-22-35+72+202-83+45+27

Reference 1D:(27373) Identify the figure of speech in the following sentence: He is a shining star.

A.Personification
B.Metaphor
C.Apostrophe

D.Euphemism



Answer: B.Metaphor

Reference 1D:(30113) Find the meaning of the highlighted word in the sentence: Last year the company
seemed invincible but in recent weeks has begun to have problems.

A.Breakable
B.Vulnerable
C.Beatable

D.Indomitable

Answer: D.Indomitable

Reference 1D:(33407) T T d DRI TP YA it ferfgd g,
A.STOTYE
B.4Tfor
CRa™

Answer: B.4TTfur =

Reference 1D:(27854) Pick the correct meaning of the highlighted idiom or phrase from the following:
He held back the main information about the robbery
from the police.

A.Not share



B.Refuse to give
C.To hesitate to proceed

D.Forget to give

Answer: A.Not share

Reference 1D:(30621) Identify the word that’s closest in meaning to the word: Obscure

A.Crystal
B.Eternal
C.Unclear

D.Unwell

Answer: C.Unclear

Reference ID:(19741) TR TR 3 3T TRI" 7 Ui 31 Wrefieites! HIorr d Siieswr?

A TERTH TR HUTR A [0aRyy d@id $eft & 1

B. T @I IR 3HTe Xeg 900

C.3MTUdTd GO HTYeTelTd 780l

D.g31d g€ 4 iUl
Answer: A TERITE! TR YUeTeR Il {aRYy q@id Hdl o 1
Reference 1D:(23697) \IFTRIT 7 e favardf Treg siie.



C.3dRYn

D.SI1aY

Answer: B_qaf

Reference ID:(21716) SRA=1,B=2,C=3,...Z=26, R T Uh! SV TT SRR 3MTR?

A{H+A+V+E}={F+L+E+W)
B{H+A+V+E}<{F+L+E+W)
C{H+A+V+E}>{F+L+E+W)

D{F+L+E+W}={A+W+A+Y}

Answer: B{H+A+V+E}<{F+L+E+Wj}

Reference 1D:(24405) WU THRUM TS S Xeq-alRa Srcel Ve el

A UaRifed

Answer: C.m

Reference 1D:(17609) 9.55+15.95+13.75-(2.75+ 3.5-4.75 + 0.5)



A.37.25

B.37.1

C.37

D.37.6

Answer: A.37.25

Reference 1D:(33402) IS A RVh Me" o YRITIH BT 3ATea?

AA® dg

B. I
C.35 &g
D.3fAReR R

Answer: ASD qaq

Reference 1D:(17636) 39 A1 1/6 + 25 4T 30% UM 200% + 0.40 x 140 =

A.79

B.79.5

C.77.5

D.76.75

Answer: C.77.5



Reference 1D:(29859) Pick the Synonym for the word:
Rebuke

A.Admonish
B.Approve
C.Tribute

D.Acclaim

Answer: A.Admonish

N o

Reference 1D:(31946) SR K id Wic T fRyq afTe.

A BTG
B. 3
C.Uf%H e
D.3RES

Answer: D.JRES

Reference 1D:(26504) ST IHER BRI HIOTCT a8 I SHTaT?

A.1969
B.1971
C.1981

D.1984

Answer: B.1971



Reference 1D:(23924)

Answer:

Reference 1D:(33401)

Answer:

Reference 1D:(27019)

Answer:

Tefidue! faeerf Teare SRIeR Siet 3iesal.

AfGad x aR
B.gY x U4

C.3UPR x YD

D.g3® x HidR

C.3UPR x AUPR

YR gafd 7S SE SdTEH Ao 3Ts.

A.TSRTd
B.Tf&H Sd

C.TERIY
D.3TR U

B.Tf3Y §re

Select the correct passive voice form of the sentence: The ladies served the
refreshment.

A.The ladies is serving the refreshment
B.The refreshment is being served by the ladies
C.The refreshment was served by the ladies

D.Serving of the refreshment is being done by the ladies

C.The refreshment was served by the ladies



